C:h Vertical Division Name:

Solve each problem.

1) 2) 3)

%0[843 80[695 40[320

4) 5) 6)

70[910 80[553 20[920

7 8) 9)

30[08 90[450 90[676

10) 11) 12)

10[220 20240 70[202

Answers

10.

11.

12.
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 9r33 2) 8155 3) 8 ) 9r33
90[843 80(695 40[320 |
0 0 0 .,  8r55
84 69 32
0 0 0 o 8
843 695 320 . 13
810 640 320
E E —O 5. 6r73
4) 13 5) 6173 6) 46 A 16
70[910 80[553 20[920
0 0 0 . 3r8
91 55 92
70 0 80 8 5
210 553 120 . 7146
210 480 120
0 73 0 0 22
7 3r8 8 5 9 7146 " 12
30[98 90450 90[676 |
0 0 0 1. 2162
98 45 67
90 0 0
8 450 676
450 630
0 46
10) 22 11) 12 12) 2162
10220 20[240 70[202
0 0 0
22 24 20
20 20 0
20 40 202
20 40 140
0 0 62
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Vertical Division

Solve each problem. Answers
6r73 7 r46 46
8 3r8 5
9r33 8 r55 13
1) 2) 3)
901|843 80695 401320
4) 5) 6)
701910 80553 201920
7) 8) 9)
30[08 90450 90[676
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
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